ERROR AND COMMAND LINE ARGUMENTS
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QE MA|A & : perror(3)

#include <stdio.h>
void perror(const char *s);

01 #include <sys/errno.h>

02 #include <unistd.h> # ?X1—4'OUt . .
93 #include <stdlib.h> unix.txt: No such file or directory
04 #include <stdio.h>

05

06 int main(void) {

07 if (access("unix.txt", R_.OK) == -1) {

08 perror("unix.txt");

09 exit(1);

10 }

11

12 return 0;

13 }
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QE HA|A &2 : strerror(3)

#include <string.h>
char xstrerror(int errnum);

01
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04
05
06
07
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12
13
14
15
16
17
18
19

#include <sys/errno.h>
#include <unistd.h>
#include <stdlib.h>

2 =0 et
HAIZE 2 H

#include <stdio.h>

#include <string.h> # ex1 5.out

@ =: No such file or directory(unix.txt)

extern int errno;

int main(void) {
char xerr;

if (access("unix.txt", R_.OK) == -1) {
err = strerror(errno);
printf ("2 & :%s(unix.txt)\n", err);
exit(1);

}

return 0;
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M 22|SEF : malloc(3)
- QA2 A[Hot Z7[9] HRe =T

#include <stdlib.h>
void *malloc(size_ t size);

char #*ptr
ptr = malloc(sizeof(char) * 100);

H2a|etetnt 27|88 @ calloc(3)

 nelem * elsize Q29| HER2|E Et6

#include <stdlib.h>
void *calloc(size_t nelem, size t elsize);

char *ptr
ptr = calloc(10, 20);
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22| 7} e realloc(3)

#include <stdlib.h>
void *realloc(void *ptr, size t size);

- OO0 EIEZ HE2 (ptr)0f| size 37(9| HEE|E

char *ptr, *new;

ptr = malloc(sizeof(char) * 100);
new = realloc(ptr, 100);

22| sHAH : free(3)

#include <stdlib.h>
void free(void *ptr);

- AME= 0F2l H2e| ghy
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HEHH QIS ME : main &+ 2 Az

main(int argc, char *argv[])

01 #include <stdio.h>

02
03
04
05
06
07
08
09
10
11

int main(int argc, char *argv[]) {
int n;

printf("argc = %d\n", argc);
for (n = @; n < argc; n++)
printf("argv[%d] = %s\n", n, argv[n]);

return 0;

}

# ex1l 6.out -h 100

argc = 3

argv[0] = ex1_6.out
argv[1] = -h
argv[2] = 100
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fd1 = open(‘unix.txt', O_CREAT, mode)
)

[323 2-1] ot JIext €

\ fd2 = open('sys.txt", O_CREAT, mode);
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ot A7|: open(2)

#include <sys/types.h>

#include <sys/stat.h>
#include <fcntl.h>

int open(const char *path, int oflag [, mode_t mode]);

- path0f| Aot O+US oflagl Aot Zeli1 Zfol w2 S0
ot 7| =45 2H
« oflag #f
S5 7l

0_RDONLY otlg 9ly] MgOoZ Yt

0_WRONLY eSS M7| 4202 HC}.

0_RDWR oS 817|2F 2717t 7ts5tAH HCLCt.

0_CREAT melo| glom meles MASHCE
0_CREAT S M1t &t AI2E AR 7|20 ¢g= oteo|H o

0_EXCL = ddstA|2F, mrYo| ofO| mom-ﬁ“%‘ﬁﬁailﬂﬂ-g
2 HAIRAE S=stCt.

O_APPEND opelo| of 20 LHES =F7}sHC}t.

0 TRUNC IUS MAE 0 00 Yk MYU0|L A7 SMOZ HIIOH

- HES 25 A1 LLf"eﬁ’-l ZI0|E 0o 2 HZASIC}

0_NONBLOCK/O_NDELAY | H| &2 Z (Non-blocking) ¢&l==

0_SYNC/0_DSYNC ARz 27|71 ELIOF A7 2SS 2lg
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- mode: Ot ZHIAAHSH A, 0644Z€0| <ALt S2i1 &L= AY Jis

= == e

S_IRWXU 0700 ARKE 7|/ M7 | Al st

SRR | Y0 | SenarlEe I node=s_TRUSR | S_TWUSR; ]
S WUSR 0200 ASKE M| 5t =
S IXUSR 0100 AQRE A3 23t

S IRWXG 0070 05 97I/m7 /A At

S IRGRP 0040 RELIE

S IWGRP 0020 & M7| Mt

S IXGRP 0010 0E Ay et

S IRWXO 0007 7|EF AREAL S47|/M7 |/ adl At

S IROTH 0004 7|E} AFZAE 247| Tt

S IWOTH 0002 7|E} AV} 47| P8

S IXOTH 0001 7|E} AVEAE A3 P
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It M43 Ea
ot Ek7]: close(2)

#include <unistd.h>
int close(int fildes);
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#include <sys/types.h>
#include <sys/stat.h>
#include <fcntl.h>
#include <unistd.h>
#include <stdlib.h>
#include <stdio.h>

int main(void) {
int fd;
mode_t mode;

mode = S_IRUSR | S_IWUSR | S_IRGRP | S_IROTH;.<i

fd = open("unix.txt", O0_CREAT, mode);

if (fd == -1) {
perror("Creat");
exit(1);

}

close(fd);

return 0;

}

# 1s unix.txt
unix.txt: SHE mUO|L} C|HEZ| 7t QY2
# gcc -0 ex2_1.out ex2_1.c

# ex2 1.out
# 1ls -1 unix.txt
-rw-r--r-- 1 root other 0 1% 6%

13:10 unix. txt

H 2 Hot:644

o
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#include
#include
#include
#include
#include
#include

<sys/types.h>
<sys/stat.h>
<fcntl.h>
<unistd.h>
<stdlib.h>
<stdio.h>

int main(void) {
int fd;

fd =

if (fd == -1) {

}

perror("Excl");
exit(1);

close(fd);

return 0;

}

# 1ls unix.txt
unix.txt

# ex2_2.out

Excl: File exists

open("unix.txt", O _CREAT | O0_EXCL, 0644);

# rm unix.txt
# ex2_2.out
# 1s unix.txt
unix.txt

18



#include <unistd.h>
ssize_t read(int fildes, void *buf, size_ t nbytes);

FZO0IA nbytesZ A| ¥t I7|2F HIOIES HOA bufd| AH¥
A2 0|2 HIO|E Ji+& 2|H
E120] 00| mAUS 20 =EHS= <0

c| |
- O] RO S0 F2A HIOIE HRE %0 =

El

ke

oty A7) . write(2)

#include <unistd.h>
ssize t write(int fildes, const void *buf, size_ t nbytes);

- bufZt 7t2|7|= HIZZ|0|A nbytes2 A Hot I7|TF L& 7|5

. MHE 27| £ HIOIE 45 2H
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06 int main(void) {

int rfd, wfd, n; % oA 7|sAF 220 M
char buf[10];

rfd = open("unix.txt", O_RDONLY);
if(rfd == -1) {
perror("Open unix.txt");
exit(1);
k

wfd = open("unix.bak", O_CREAT | O _WRONLY | O_TRUNC, 0644);

if (wfd == -1) {
perror("Open unix.bak");
exit(1);

} 6HIO|EA S10{=2LCt

while ((n = read(rfd, buf, 6)) > @) =
if (write(wfd, buf, n) !'= n) perror("Write");

21
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25 if (n == -1) perror("Read");
26
27 close(rfd);
28 close(wfd);
29
30 return 0;
31 }

# 1s unix.bak

unix.bak: SHE mteo|L} C|AEZ| 7T YS
# ex2_5.out

# cat unix.bak

Unix System Programming

22



ot QImAMl 2| ZA : lseek(2)

#include <sys/types.h>

#include <unistd.h>

off_t lseek(int fildes, off_t offset, int whence);
- offset@ 2 ARSI 37|02 QITAMES 0|=
« offset?| Zy& whenced/= 7|92 oA

j Ihol 0| A| 0] A - T
SHA R[22 0|
lseek(fd, 5, SEEK_SET); £ SEEK_SET nfRlo] Afs 7%
ISEEth By S33CI2)s ~—— SEEK_CUR 3R 9I%| 7|2
T2l a7 _?F_
mholo| T oj A SEEK_END nje| 2 7|E
o, S 222 0|
- mY QM| A AE Y2 H?

cur_offset = lseek(fd, @, SEEK_CUR);
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int main(void) {
int fd, n;
off_t start, cur;
char buf[256];

fd = open("unix.txt", O_RDONLY);
if (fd == -1) {
perror("Open unix.txt");
exit(1);
¥

start = lseek(fd, @, SEEK CUR);

n = read(fd, buf, 255);

buf[n] = "\0"';

printf("0ffset start=%d, Read Str=%s, n=%d\n", (int)start, buf, n);
cur = lseek(fd, @, SEEK CUR);

printf("0ffset cur=%d\n", (int)cur);

24



El

LO| 11 r—
2 224 A&ot7|
25 start = lseek(fd, 5, SEEK _SET);
26 n = read(fd, buf, 255);
27 buf[n] = "\0";
28 printf("0ffset start=%d, Read Str=%s", (int)start, buf);
29
30 close(fd);
31
32 return 0;
33 }
# ex2_6.out
Offset start=0, Read Str=Unix System Programming
, h=24

Offset cur=24
Offset start=5, Read Str=System Programming
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ot 7|=AF A : fentl(2)

#include <sys/types.h>

#include <unistd.h>

#include <fcntl.h>

int fcntl(int fildes, int cmd, /* arg */ ...);

cmd2| Z50f 2t 2 Rt(arg)E A|HdS £+
At ALE3SH= omd

F_GETFL oE S22 HES Sof=C0

F_SETFL JEf S22 22 2Felt), 282 + Us S23= HEE open 0iA XEek=

IT

=

el 1Ct,
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. . . A
07 int main(void) {
08 int fd, flags;
09
10 fd = open("unix.txt", O _RDWR);
11 if (fd == -1) {
12 perror(“open");
13 exit(1);
14 }
15
16 if ((flags = fentl(fd, F_GETFL)) == -1) {
17 perror("fcntl");
18 exit(1);
i US 27 BE2 £
N # cat unix.txt
21 flags i= 0_APPEND; Unix System Programming
= , # ex2_9.out
23 if (fcentl(fd, F_SETFL, flags) == -1) { s et e e
24 perror("fcntl"); Unix System Programming
25 exit(1); Hanbit Media
26 }
27
28 if (write(fd, "Hanbit Media", 12) != 12) perror("write");
29 close(fd); S~
30 ot Aol W& 7t
31 return 0;
32 }
\_ Y,

30



§ ot AR

unlink(2)

#include <unistd.h>
int unlink(const char #*path);

- path0]| A|Feh OfLQ[ inode®A T3 +&5 HA
- 3 7t 00| E[H pathOf] x| Zeh THEO| A4
- ot =0 otLzf CIHEZ| (Rl CHEL] oL E)E A4

remove(3)

#include <stdio.h>
int remove(const char #*path);

. pathOll R|Z3H DHYO|Lt ClAEA|S ALK
. ClERQ A ¥l Cl2Ea|g ALK

=
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r01 #include <unistd.h> )
02 #include <stdlib.h>
03 #include <stdio.h>
04
05 int main(void) {
06 int cnt;
a7 i tmp.aaa ItQ AP
08 cnt = unlink("tmp.aaa");
09 if (cnt == -1) {
10 perror("Unlink tmp.aaa");
11 exit(1);
12 }
13
14 printf("Unlink tmp.aaa success!!!\n");
15
16 return 0;
L17 } y
# 1s -1 tmpx*
-rw-r--r-- 1 root other 37 18 6Y 17:50 tmp.aaa
-rw-r--r-- 1 root other 35 18 6¢Y 18:06 tmp.bbb
# ex2_10.out
Unlink tmp.aaa success!!!
# 1s -1 tmpx*
-rw-r--r-- 1 root other 35 18 6¢Y 18:06 tmp.bbb
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Ex.

Ex.

OfEE SAtol= mycp T2 &g
a.txt b.txt

test.txt 0= LS €2 HE= 718 (ddg A)

- "If I have seen further it is by standing on the shoulders of Giants."

test.txt O} 20| Al "it is by standing" Bt 2O{ Al printf 5=
D233 2y
lseekOS 0|8 A

oUS ZASHE mycp2 T2 &Y
./mycp a.txt b.txt c.txt d.txt ...
a.txtE 0|5 O™ E2 D EASHA MA
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